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Resuelve por los cuATRO metodos 3x+2y= 6}

2x— y=4
[l ¢
SUSTITUCION IGUALACION
3X+23,=6 3X+23_ =6 3’6;3)(
2x—3=4 Ix-4 =y zx—3:4 Y =2x-4
3x + 2(2x-4) =6 6'23X - k-4
3 + bx — 8 =6 63y = 2(2x-4)
Ix = 14 6-3x = &x -8
— y=22-4 6+8 = 4x+3x
14 = Fx
: )
P(2,0)
P(2,0)
/ .
REpPUCLiION GRARCAMENTE
3X+23_ =6 |—> 3X+2%:6
2x~3=4& 5:6£$x
x| ¢
— AX + 23{ =6 0| 3
&)"'4)(_2&:8 210
4 |-3
Ix = 14
o2 .
3:2x74
P(zlo) X %—
O |-4




	T5 - Sistema Lineal 2 (4 Formas de resolverlo)
	T5 - Sistema Lineal 1 (4 Formas de resolverlo)



